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ENTRY POINTS 
------------------------------
!~~~---!-~~~~~-~~~~-~~: ______ _ 
ltlP I ENTRY PAGE STEP 
KU!BER POINT NUMBER NUMBER 
-------+----------------------F003 I A 1 001 

001 
(EllTRY POINT A) 

THIS MAP ASSUMES THAT A FAILURE HAS OCCURRED 
II ANOTHER MAP{ ANDL THEREFORE, WILL ALWAYS 
IDENTIFY A FAI ING ~RU. 
USE ONLY WHEN INSTRUCTED TO DO SO BY ANOTHER 
KlP. 

COINECT INTERRUPT POINTER WITH DCP 
RESULT=O? 
8DI=$TUXX,TF053,2,0000,EQ 

YI ~g~NECT INTERRUPT POINTER ERROR GO TO 
0070 
MDI=$FIXT 

bo3 
DEVICE RESET 
RESULT= 4? 
KDI=$TUXX,TF051,2,0004,EQ 
y N 

II 004 
DEVICE RESET ERROR, EXCHANGE CARD 
VERIFY THE REPAIR, 

I !IDI=$FIXT 

bos 
PREPARE TO LEVEL 0 
RESULT= 0? 
MDI=$TUXX,TF052,2,0000,EQ,PLNG=4,PARM=OOC1 
y N 

I 006 
PREPARE LEVEL 0 ERROR, EXCHANGE CARD 
VERIFY THE REPAIR. I ltDI=$FIXT 

601 
[ENTRY POINT Bl 
DISCONNECT THE INDICATOR PANEL FROM THE 
AT THE CARD CONNECTOR J2. 

*CE RESPONSE NECESSARY.* 

MAP 

CAPD 

COMMUNICATIONS INDICATOR PANEL DISCONNECTED? 
MDI=$QUES 
y N 

I 008 

! GO TO STEP 007 ENTRY POINT B. 
MDI=$GOTO,TYPE~INTRNL,EP=B 

09 
TEST RESULTS OF 0 IN STATUS WORD 2 
RESULT= 0? 
MDI=$TUXX,TF026,2,0000,EQ,PLNG=4,PARM=0000 
y N 
I 
I 

I 

I 
I 

2 
A 

010 
EXCHANGE THE CARD 
VERIFY THE REPAIR. 
MDI=$FIXT 

COPYRIGHT IBM CORP 1976 

REVISED 1979 

STATUS WORD 2= CO? 

MAP F007-1 

16JUL 79 PN4412849 

EC375465 PEC375135 
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ON THE INDICATOR PANEL CABLE 
THE RESISTANCE OF THE PINS. 

NOTE: 

CONNECTOR, CHECK 

USE THE 1K OHKS SCALE AND PLACE THE POSITIVE 
OH!S LEAD OF THE KULTIKETER ON PIN A03. THE 
RESISTANCE SHOULD BE NEAR THE SAKE FOR ALL THE 
PINS BUT NOT OPEN CIRCUIT OR SHORT CIRCUIT 

*CE RESPONSE NECESSARY.* 
ALL PINS GOOD? 
KDI=SQUES 
y N l ~l~HANGE THE INDICATOR PANEL! 

VERIFY THE REPAIR • 
. !DI=SFIXT 

13 
OR THE CABLE CONNECTOR CHECK FOR THE CORRECT 
RESISTANCE VALUE BETWEEN THE PINS, SEE TABLE. 

USE THE 1K OHKS SCALE AND PLACE THE NEGATIVE 
OHKS LEAD OF THE KULTI!ETER ON PIN A03. THE 
RESISTANCE SHOULD BE OPEN CIRCUIT 

*CE RESPONSE NECESSARY.* 
ALL THE PINS GOOD? 
!DI=SQUES 

ly il~HANGE THE INDICATOR PANEL! 
VERIFY THE REPAIR. 
!DI=SFIXT 

15 
01 THE CABLE CONNECTOR CHECK FOR CONTINUITY 
BETiEEI THE PINS SEE TABLE. 

EISURE ALL THE SWITCHES ARE TO THE UP POSITION 
AND PLACE TO THE DOWN POSITION ONLY THE SWITCH 
TO BE TESTED. WHEN TESTED RETURN THE SWITCH 
TO THE UP POSITION AND CONTINUE TESTING THE 
OTHER SWITCHES. 

*CE RESPONSE NECESSARY.* 
ALL THE PINS GOOD? 
!DI=SQUES 
y I 

3 
B 

016 
EICBAIGE THE IIDICATOR PANEL 
VERIFY THE REPAIR. 
!DI=SFIIT 

-------r-------,----------
FR o M I TO LAMP UNDER 

TEST -------
A03 
A03 
A03 
A03 
A03 
A03 
A03 
A03 

-------
B12 
B11 
B10 
B09 
A12 
A 11 
A10 
A09 

----------0 
2 
4 
6 

~ 
5 
7 

-------r-------,----------FROM TO LAMP UNDER 
TEST -------

A03 
A03 
A03 
A03 
A03 
A03 
A03 
A03 

-------
B 12 
B 11 
B10 
B09 
A12 
A 11 
A10 
A09 

----------0 
2 
4 

! I __ ! _______ , 

------siITCB ______ T_F~UH--r-To--r 
------------------1------- -----1 LINE SELECT 1 A03 A04 

LINE SELECT 2 A03 B04 
LINE SELECT 4 I A03 AOS I 
DISPLAY/FUNCTION 1 IAC3 BOS 
DISPLAY/FUNCTION 2 A03 A06 
DISPLAY/FUNCTION 4 A03 B06 
DISPLAY/FUNCTION 8 1103 A07 I 
DISPLAY/FUNCTION 16 A03 B07 __________________ ! _______ -----
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CABLE CONNECTOR CHECK FOR AN OPEN 
BETWEEN THE PINS PER THE TABLE. 

ENSURE ALL THE SWITCHES ARE TO THE DOWN 
POSITION AND PLACE TO THE UP POSITION ONLY THE 
SWITCH TO BE TESTED. WHEN TESTED RETURN THE 
SWITCH TO THE DOWN POSITION AND CONTINUE 
TESTING THE OTHER SWITCHES. 

*CE RESPONSE NECESSARY.* 
ALL THE PINS GOOD? 
!DI=SQUES 

jy iigHANGE THE INDICATOR PANEL! 
VERIFY THE REPAIR. 
MDI=SFIXT 

19 
ON THE CABLE CONNECTOR CHECK FOR CONTINUITY 
BETWEEN THE PINS, SEE TABLE. 

ENSURE ALL THE SWITCHES ARE TO THE DOWN 
POSITION AND PLACE TO THE UP POSITION ONLY THE 
SWITCH TO BE TESTED. WHEN TESTED RETURN THE 
SWITCH TO THE DOWN POSITION AND CONTINUE 
TESTING THE OTHER SWITCHES. 

*CE RESPONSE NECESSARY.* 
ALL THE PINS GOOD? 
!DI=SQUES 
Y·N 

I 020 
EXCHANGE THE INDICATOR PANEL! ! VERIFY THE REPAIR. 
ftDI=SFIXT 

21 
ON THE CABLE CONNECTOR CHECK FOR AN OPEN 
CIRCUIT BETWEEN THE PINS, SEE TABLE. 

ENSURE ALL THE SWITCHES ARE TO THE UP POSITION 
AND PLACE TO THE DOWN POSITION ONLY THE SWITCH 
TO BE TESTED. WHEN TESTED RETURN THE SWITCH 
TO THE UP POSITION AND CONTINUE TESTING THE 
OTHER SWITCHES. 

*CE RESPONSE NECESSAFY.* 
ALL THE PINS GOOD? 
ftDI=SQUES 
y N 

I 022 

l 
EXCHANGE THE INDICATOR PANEL. 
VERIFY THE REPAIR. 
MDI=SPIIT 

23 
LERTRY POINT C) 
SECONIECT THE INDICATOR PANEL TO THE CARD AT 
CORRECTOR J2 

PLACE ALL THE SWITCHES.TO THE OFF POSITION 

*CE RESPONSE NECESSARY.* 
IIDICATOR PAIEL RECONNECTED AND SWITCHES OFF? 
MDI=SQUES 
y • 

I 
4 4 
C D 

T=fiii=iiii~i====j=1=!~~i==1=~~~=1 
LINE SELECT 4 I A03 AOS 
DISPLAY/FUNCTION 1 A03 BOS 
DISPLAY/FUNCTION 2 A03 A06 
DISPLAY/FUNCTION 4 A03 B06 
DISPLAY/FUNCTION 8 A03 A07 

I DISPLAY/FUNCTION 16 A03 B07 

------------------'-------

=~ii~=;iii~~====~:f:!~~~::r:i~~=1 
LINE SELECT 2 I B01 B04 
LINE SELECT 4 I B01 AOS 
DISPLAY/FUNCTION 1 IBC1 BOS 
DISPLAY/FUNCTION 2 B01 A06 
DISPLAY/FUNCTION 4 B01 B06 
DISPLAY FUNCTION 8 B01 I A07 DISPLAY~FUNCTION 16 B01 B07 

------------------'------- -----

l
------svrTcB------r-r~uw--r-Tu--1 

-t!ii-~iti~~----~-,--~g~--,-~gft-1 
LINE SELECT 4 I B01 ACS 
DISPLAY/FUNCTION 1 B01 BOS 

I DISPLAY/FUNCTION 2 B01 A06 I DISPLAY/FUNCTION 4 B01 B06 
DISPLAY/FUNCTION 8 B01 A07 
DISPLAY/FUNCTION 16 B01 B07 

------------------'------- -----
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I GO TO PAGE 3 STEP 023 ENTRY POINT c. I KDI=$GOTO,TYiE=IHTRNL,EP=C 

62s 
TBST INDICATOR PANEL AGAIN 
RESULT= 07 
KDI=STUIX,TF026,2,0000,EQ,PLNG=4,PARM=OOOO 
y N 

I ~~8HAHGE THE COKKUHICATIONS INDICATOR PANEL 
VERIFY THE REPAIR. 
KDI=$FIIT 

A21 
{ENTRY POINT DI · 
PLACE ALL THE SWITCHES TO THE ON POSITION 

*CE RESPONSE NECESSARY.* 
ALL SWITCHES ON? 
KDI=$QUES 

l! :~·TO STEP 027, ENTRY POINT D. 
KDI=$GOTO,TYPE=INTRNL,EP=D 

29 
TEST INDICATOR PANEL AGAIN 
RESULT= 07 
KDI=$TUXX,TF026,2,0000,EQ,PLNG=4,PARM=FFFF 
y N 

I 030 
EXCHANGE THE CARD 
VERIFY THE REPAIR. 

I MDI=$FIXT 

631 
(ENTRY POINT E) 

PLACE THE SWITCHES TO 10101010. 

*CE RESPONSE NECESSARY.* 
SWITCHES TO AA? 
KDI=$QUES 
y N 

I ~!2To STEP 031, ENTRY POINT E. 
KDI=$GOTO,TYPE=INTRNL,EP=E 

633 
TEST INDICATOR PANEL AGAIN 
RESULT= 0? 

'KDI=$TUXX,TF026,2,0000,EQ,PLNG=4,PARM=AAAA 
y N 

I 034 
I EXCHANGE THE CARD 

VERIFY THE REPAIR. I KDI=$FIXT 

635 
NO FAILURE FOUND, SUSPECT RESEAT PROBLEM 
MDI=$FIXT 

TEST STATUS WORD 2 FOR 00. 

TEST STATUS WORD 2 FOR FF 

TEST STATUS WORD 2 FOR AA 
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